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Topic:- General Knowledge and Logical Knowledge

1) If ROHIT is coded SPIJU, then how is MOHIT coded? / Tf¢ ROHIT &I SPIJU A HIfSd forar irar
2, df MOHIT P $A Sifed forar smam?

1. LPIJU
2. ZATTU
3. NPLJU

4. LNGHS

Correct Answer :-

« NPIJU

2) Who founded the Servants of India Society? | HINd &HIT ¥ Tg $I RITUAT fpaq &1 A2
1. Bal Gangadhar Tilak / SIS TVTER IGNEY

2. Chittaranjan Das / feRRSIH g™

3. Lala Har Dayal / €Iell GX &Il

4. Gopal Krishna Gokhale / I DU JIRC

Correct Answer :-

« Gopal Krishna Gokhale / TIIUTe] 0T TRgcl

3) Find the odd one out: /wﬁwsrmaﬁﬁrq:
15, 26, 37, 49, 59, 70

1. 49

2.59

()



J. £0O

4.70

Correct Answer :-

. 49

4) If RADIO is coded TDIPZ, then how is TELEVISION coded? / af¢ RADIO D) TDIPZ | Hifed fhar wiTaT 8,
@ TELEVISION T S8 PifSd fpaT SRT?

1. VHLGQVNILQ
2. VHQLGVIQLB
3. VHQLGVIBLQ

4. VHGLQVIBLQ

Correct Answer :-
e VHQLGVIBLQ

5) How many different six letter words can be formed using the letters of the word 'LEADER', if repetition is

not allowed? / afd TARTGRI P AT 781 @ 1 'LEADER', RTsg & 3R BT SUTNT B3P B8 &R} & fhaq
fafre <reg 3TTE o I &2

1. 600
2. 720
3.360

4. 480

Correct Answer :-

« 360

6) In which Present-day state of India did the Railways run its first train? / 3{T w YR & 5T e
T 7 U= Uy ¥ g A2

1. Gujarat / JSIRTd
2. Uttar Pradesh / 37X u%ﬁr
3. Maharashtra / HERTY

4. Madhya Pradesh / e

Correct Answer :-

©)



® lvidlldlidasliua / "IQIKl&'

7) Who Coined the Slogan'Give me blood I will give you the freedom'? | 'qH 53} g7 32 7 g@' STATGT
G BT AR fora= @ U

1. Bhagat Singh / wid Rig
2. Bal Gangadhar Tilak / ST TRTIER fad®
3. Chandrashekar Azad / SERIER 31Ol

4. Subhas Chandra Bose / §HTY Tg CI5]

Correct Answer :-
« Subhas Chandra Bose / gHTY Tg CI8]

8) Saraswati Samman is given annually for outstanding contribution in which field? /T | 3 Pp¥

TRTe & e vde af TRt T R srar 22
1. Fine arts / Qlerd sal
2. Education / TR1&fT

3. Literature / HTI%W
4. Classical Music / QAT T

Correct Answer :-

¢ Literature / GT%W

9) Bargi project is on River ./ st ulEteET _ T wR R« %I
1. Son /¥ H

2. Narmada / THaT

3. Mahanadi / T8I

4, Chambal / I

Correct Answer :-

« Narmada/ :Iﬁ?[l

10) Which state in India has the longest railway line in Route Kms? / ¥=¢ franiter & \’rl?l"f?[ YRA &
e 3o & Tl wet Yad AEA R 2

(4)



L. Ulldl r1ducdSIil/ VAN AYX]

2. Rajasthan / XTSI
3. Maharashtra / HERTY

4. Madhya Pradesh / H&J TSR

Correct Answer :-

« Uttar Pradesh / TR US¥

11) Which Indian State is associated with the Baul Singers? / T3¢ D HIRd & frg yewr I gefta
&

1. Goa /TliaT

2. Kashmir / AR

3. West Bengal / BB

4. Meghalaya / Tgag

Correct Answer :-

+ West Bengal / CEEEHIN]

12) Which of the following body estimates the National Income in India? / frgifed ® @ $9-a1 Fer
HRT & AP 3T BT 3 Bl 62

1. Central Statistical Organisation / P51 RSP TS
2. Finance Commission / Tl SRINT

3. Reserve Bank of India / R Rerd S

4. NITI Aayog / =l STANT

Correct Answer :-

« Central Statistical Organisation / PSIT FIRAD I T3

13) Which Strait separates India from Sri Lanka / P AT TASHEHS URT ) SdhT I 3T Hdl

82
1. Mandeb / HFGS
2. Magellan / TE

3. Palk / Uleh

(5)



“. lvidldlld / TINIM/|

Correct Answer :-

« Palk / Ulech

14) When is Kargil Vijay Diwas day observed? / PRRTA faord f¢aw oa O-RIT STrelT 87
1. June 20 / 20 57

2. June 25 /25 7

3. September 21 / 21 Ryawar
4. July 26 / 26 QTS

Correct Answer :-

. July 26 /26 AT

15) Where is the famous Shore Temple located? / uﬁl&' adig Ilﬁ? W @ %?
1. Chennai / %ﬁ_sc

2. Puri/ R’

3. Visakhapatnam / [EEULCIEREE

4. Mahabalipuram / q@T@FﬂW
Correct Answer :-

« Mabhabalipuram / ﬁ?ﬁ?ﬁ'ﬂ?ﬂ

16) Quit India Movement was launched in ./ YRd BIS! igia- dt RR=3Td | §§
4t

1. 1942
2.1919
3. 1945

4. 1930

Correct Answer :-

o 1942

(6)



47 ) YYHU allUlg UICHC CULLIPUNCU UIC HAUULIdL A11UICIHL UL LWU COULUIES: / QTIYT N1 IM/7QITT el eIl v/

HENIEEIREE Ik
1. Bankim Chandra Chatterjee / §fopH i el

2. Jawahar Lal Nehru / SIdIg <l :|E5Q°
3. Rabindranath Tagore / Al 1Y TR
4. Mohammed Islam / HIgHG S¥AH

Correct Answer :-

« Rabindranath Tagore / JqIG&ATY TR

18) Who won the Filmfare Best Actor award in 20162 / 2016 § 5O fhethaR o1 9dYY ARATT T
TRIBR SitdT 4T?

1. Amitabh Bachchan / 3{THdTH S
2. Akshay Kumar / &I HHR
3. Salman Khan / dHIH W

4. Aamir Khan / 3R T

Correct Answer :-

o Aamir Khan / 3R @

19) The first post office in India was established by British East India Company in . HRAGH

fafew S Sar Fult gRT UUH STHFR H y1fa fosar mar
1. Calcutta / D eIhl

2. Hyderabad / %W

3. Madras / g

4. Bombay / S

Correct Answer :-

¢ Calcutta / pddhdl

20) The first Indian to go into space is / Gi_t'lﬁ'&‘l' S 9TeT qedl R %:
1. Sunita Williams / grita faferaey

2. R.D Sharma / 3R, SI. T-ﬂ"zﬁ

(7)



D. INAKCSIL Oldlallld / NI/ X1 <I¥il

4. Kalpana Chawla / Ul <Al

Correct Answer :-

e Rakesh Sharama / Ql%?l W'f

21) The chief deity in Chaturbhuj temple is: / aﬁ‘ﬂﬁ' TR & q8] qars:
1. Lord Chaturvedi / H7TaT Tl

2. Lord Rama / HITAI [H

3. Lord Vishnu / H3TaT faw]

4. Lord Shiva / H7TaM 19

Correct Answer :-

« Lord Vishnu / 47aT fawy

22) In Madhya Pradesh, Manganese occurs in the districts of: / H& ;I%'QT ﬁ, aTFﬁG[ = a ﬁ G
fora & urg et 2

1. Morena and Rewa / Fﬁ_"ﬂ Tq a1

2. Ujjain and Kalumar / 35oi U4 HTTAR

3. Bhalghat and Chhindwara / HTQITIIE Td febgdre]

4. Durg and Baster / @TTQH o}

Correct Answer :-

« Bhalghat and Chhindwara / HTSITdTC Ud feécarer

23) Complete the series choosing the missing number: / &I TBAT GADR YT DI GRT DITOIQ:
2,5,10,17,

1.28

2.26

3.20

4.23

Correct Answer :-

(8)



24) Complete the series choosing the missing number: / TG TBAT TADR YT DI RT DITOIT:
720,360, ,30,6,1

1.70

2. 80

3.120

4. 60

Correct Answer :-

« 120

25) Complete the series choosing the missing number: / & & TABR gEaT B T PIfoTg:
7,11,16,22,29,37,

1.46

2.52

3.39

4. 48

Correct Answer :-

e 46

26) Select the option that is true about the Statements and Conclusions given: / 39 ICEgY

BT TG HIforE 1 b fou e SY=T R fAewpul & 9 § 98t 8:

Statements: / YA:
Some powders are scents / PO UISSY A %
Some scents are creams / It EE) Eae) %

Conclusions: / fAres:
I. Some powders are not creams / $© UISSY HIH A8l &
IL. Some scents are not creams / S 37 B el &

1. both conclusion 1 and Il follows / &Y [ 3R 1| a:h WW%
2. only conclusion | follows / Wﬁ@ﬁfl WW%

©)



2. NEINET COTICIUSION I NOE CONCIUSION i ionows 7 "1 Q1 ITIMM/S 1 VTN "1 QL ITIMM/H 1 VITLININYI Y/XA @

4. only conclusion Il follows / Had fpy || GIWWT%

Correct Answer :-

¢ neither conclusion | nor conclusion Il follows /qﬁﬁ'@ﬂfl ﬁ?qaﬁm 1l GH{:R'UTW%

27) Select the option that is true about the Statements and Conclusions given: / 39 faweu

&1 I9- BIfeTe S fF fau e wy=T 3 fAeput & IR d 98l 8:

Statements: / $YA:
All guitars are violins / 4 fleR arafe= €
All violins are lutes / 9 arafer diom &

Conclusions: / freo:
I. All guitars are lutes / 94 feR diom §
II. All violins are guitars / 9! arafed fieR &

1. neither conclusion | nor conclusion Il follows /:[_sgfﬁfﬁ'?él Gﬁquﬂeﬂﬂ?—ﬁ Il GER:ITUTW%
2. both conclusion | and Il follows /ﬁ'&b_ﬁfl GﬁT Il aﬁr &Wm%

3. only conclusion Il follows / Wﬁ'@ﬂf Il WW%

4. only conclusion | follows / Wﬁ@lﬂfl WW%

Correct Answer :-

¢ only conclusion | follows / Had =Py | &IHFR'UTWT%

28) Select the option that is true about the Statements and Conclusions given: / 39 e

BT I PIeE o fp AT e FY=T iR fArepul & 9 & 98l 8:

Statements: [/ PY:
Some balls are balloons / 9 Tig ﬂiﬂﬁ' g
No balloon is round / ®13 TRT M Tl 8

Conclusions: / fAwp:
I. Some balls are round / @ﬁ'c{"ﬁ?f%
I1. No ball is round / ﬁ%ﬁarht-rqé’r%

1. both conclusion | and Il follows / fT&hY | 33? 1l ?fFﬁ WW%

2. neither conclusion | nor conclusion Il follows /qﬁﬁ'ﬁﬂfl ﬁ?qﬁ?fﬁmﬂf Il WW%
3. only conclusion [l follows / Wﬁw Il WW%

4. only conclusion | follows / Fad ey | G@HTUTWT%

(10)



Lorrect Answer :-

e neither conclusion | nor conclusion Il follows /:fébfﬁﬁb_@fl @Tqﬁﬁ'ﬁﬂf Il &WW%

29) Select the option that is true about the Statements and Conclusions given: / 39 ICEgY

BT I PIoE & fop e T YA 3R frepuf & 9 & 98l 8:

Statements: / ©YH:
Some watches are bands / $ Uf3Ti TS §
All bands are bracelets / 93 U¢ sIdie &

Conclusions: / fAes:
I. All bracelets are bands / T A U &
II. Some bracelets are watches / $9 SIdc ufeyi g

1. only conclusion Il follows / &Had fee || WW%

2. only conclusion | follows / Had Fpy | &WUTWT%

3. neither conclusion I nor conclusion Il follows / 7 &1 fsAY | 3R 7 & fsm |1 WW%
4. both conclusion | and Il follows / &Y | 3R 1] ol WW%

Correct Answer :-

« only conclusion Il follows / Had fepd || WW%

30) Line printer prints 176400 lines in a single shift within eight hours. If the printer was in
operation for seven hours during this shift, what must be the minimum speed of the printer if
it has to complete the required task? / @S flicy T& UTGil & 8 U<l & 3ig¥ 176400 Uldaar gigd
Pdl 21 39 UTall & ERH, afe fifex 7 @t & fore ufvames & o, 4t saxa® &rd &1 gof #1 & forw
fiiex &1 =gy nifa 1 R

1. 250 lines/minute / 250@[&@?
2. 300 lines/minute / 300 Tfe /e
3. 380 lines/minute / 380 UferT /fifHe
4, 420 lines/minute / 420?&[[&@?

Correct Answer :-

¢ 420 lines/minute / 420?@1/&@?

31) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 2 & TS e §, TS BT TP HH IUMRIA & Terd FhIei UgTIe:

(11)



L1, 7, 29, IU; OL
1.25
2.50
3. 81

4.1

Correct Answer :-
e 50

32) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 2 § TE e #, TS BT TS HH IUTRIT & | TAd FAIST TgAITg
9, 11, 20, 31, 51, 84

1.20

2.31

3.51

4. 84

Correct Answer :-

33) If MARUTIis coded NBSVUJ, then how is AMBASSADOR coded? / gfe MARUTI &Y
NBSVUJIA Sifsd f5ar SraT 8, 9 AMBASSADOR 9 3 ®ifed forar S

1. BPCBTTBEPS
2. BNCBRRBCPS
3. BNCBTTBCPS

4. BNCBTTBEPS

Correct Answer :-

e BNCBTTBEPS

34) Complete the series choosing the missing letter/s: / Ul SER/IHERT P ERCTELCI E] T PIfIC:
_PAd___qd__p__qgpq __qp

1' pl p, p; p, q; CI
(12)



4- M, Y, 9,4, 0, P
3.09,9,p,9,0,9

4' ql p/ q; p: q; p
Correct Answer :-
* 4,9,p,9,0,9

35) Find the next expression in the series: / mﬁ GNETUEWW:
A, YZ, ABC, WXYZ, ?

1. ABCDE
2. VWXYZ
3. ABCD

4. ABCE

Correct Answer :-

+ ABCDE

36) In a certain code language, My favourite hero is written as deto vya nerolo and Hero is
greatis written as meb deto nya.
In the above code language, the word for herois:

/[ Th @I PIS UTHT fr', My favourite hero P deto vya nerolo foraT ST 8 3R Hero is great
P meb deto nya FE@T SITAT B ISWRIG IS HIUT H, TS hero® :

1. deto
2. nya
3. meb

4. vya

Correct Answer :-

e deto

37) In a certain language dona hona khona means send by post and demk dona delf means
beyond red post. Then in that language the word dona is used for: /| TP WY HIS HINT H,
dona hona khona &1 34 send b y post 3R demk dona delf &1 344 beyond red post?fl?lT %I EL3)
IS YT H dona ¥ U 5 e &1 gwHTe fpam m 82

1. red
(13)



<. wEYUINU
3. send

4. post

Correct Answer :-

38) The Government of India Act, 1935 is concerned with: / HRd SRR AfUATH, 1935

BT 49Y I B:

1. Industries in the provinces/m'?ﬁﬁm
2. None of the above /38 I BIs gl

3. Adult franchise / Ui¢ AAIYDR

4. Provincial autonomy / Hidid gl

Correct Answer :-
« Provincial autonomy / Hiciid A<l

39) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.
Choose the odd one out:

/ﬁ"-;ri%ri%l;mrﬁ, &Rl & $o ugg 2 T §1 37 9t # baa tw ol SleHR, AW JHGT § TS
TSP ST Bl

30 | fauy o1 99+ Sifve:
1.2
2. H
3.Q

4. T

Correct Answer :-

40) Which of the following Indian languages is NOT labelled as classical language? / Faifeada

fopT HTUT &1 I YT BT &St g1 foam 82
1. Hindi / &gl

(14)



L. 1CLUEU /7 NINLTY

3. Tamil / AiHA
4, Sanskrit / TEpd

Correct Answer :-

« Hindi/fgal

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? / @< €3 I8 %d &, 3@
JTRTd HieT T RAN?

-
AN A\ | 7
A= { 13 0
Fl R i
SN -
& e
1 n i b v w1

O
N
<

1.

2.

3.
N
K )
||‘ |
N /;

4, T

Correct Answer :-

(15)



2)
In the sequence shown below, which figure comes next? / =l &3 IR ey &, 33Tell

ITRTT HieT AT ARAN?

& al E‘ !'L-._ - ~ -.-'.",x ,i”;» "“"_;.
A ; 24 s £, l
. q J r ! S| J ! . ,»"K ""II
Wi | s ) b r o [

i
I

&
",
-
ra
r
4
"

&

A,
o Y,
", i ! P
“ b
. .
‘_!; "-x,_ ’

\
f |
¢

.a-r‘h
s
¢

£
B
|

"

b

e

| ™.
1i £
Ju_\\‘
1"1 &
;,‘
i
1

i1

1.
e
& '
I
""\ ,; ’ N |
v ",
'-x_'q_- . -

Correct Answer :-

(16)



— l-,’—~—<-'-~‘1
|“«, r‘
L‘\-ﬁ., J _f'-;f
3)

If the following two squares shown below overlap, which one of the following options

is formed? / 9T e af a3t Jfaeniad gl &, df @& & A hid AT Teh dhed ST o7

1.

| ..:
2.

[ ) !
3.
4,

Correct Answer :-

(17)



TT) LUC PIouuti Ul aged vl A AU D 1y 41, 11 LHEC ULLICTCHLT UELWECLL LT aygly Ul A allu D 1y 4. ©'UIU Ui age

of A./ A 3R B 1 3T HT UFHT 21 3| TS ST 3T BT 3fcR 4 B, df A B Mg 19 HRT?
1.4
2.21
3.7

4.3

Correct Answer :-

5) Out of A's capital, 1/3 is invested at 4% and 1/4 at 3%. The rest of the capital is invested at 5%. If the

annual income on the capital is Rs. 12,500, then what is the capital? / A BT 1/3 ¥ 4% PRI TG gl
3T 1/4, 3% P SR A| AW U 5% I 3 A T §3ITI TS I U9 WX a1t 3 12,500 FUA 8,
DT o Y fora=m um?

1. Rs. 2,50,000 / 2,50,000 STT
2. Rs. 1,25,000 / 1,25,000 ST
3. Rs. 1,20,000 / 1,20,000 ST

4. Rs. 3,00,000 / 3,00,000 Er

Correct Answer :-

« Rs. 3,00,000/3,00,000 3T

6) The Average of 3 consecutive numbers is 9. Find the middle number of the three numbers. / 3 Egiica

T=T BT 31 9 71 57 3 T=eii § & Hed &Y 6@ ghft:
1.6
2. 12
3. 10

4.9

Correct Answer :-

7) Among the following options, which is the greatest in value? / o fowen d @ feasTae Taifae
2

(18)



1. V1ITI/ITTIT

2. 62%
3. 621/1001

4. 0.619

Correct Answer :-
e 621/1001

8) What is the loss percentage if an article costing Rs. 2 is sold for a loss of 50p? /TS 2 Tud & foredt

T 1 50 T BT 71 IR A7 <1 & g1 wfa=ra fara=n ghme
1. 24%
2.23%
3.25%

4.20%

Correct Answer :-
o 25%

9) Pipes A and B can fill the tank in 10 and 30 minutes respectively, and pipe C can empty the tank in 20
minutes. If all of them are opened at the same time, then find the time taken to fill the tank. / UTgU A 3R
B {5t & o a=T: 10 3% 30 e ¥ 1Ra & 3R T3 ¢ 39 20 e & @reft w7 AT 1 Ay AT
UTSY TH 1Y A 81 af b forasit R o wwm?

1. 20 minutes / 20 e
2. 12 minutes / 12 T8 e
3. 10 minutes / 10 T&9e

4. 15 minutes / 15 B¢

Correct Answer :-

« 12 minutes / 12 e

10) A property dealer sells a plot of land at 6 % profit. If he had sold it at 10% profit, he would have
received an additional amount of Rs. 21,200. What is original selling price of the land? / b Tt SR

forelt oft BT TP WITe 6% 1Y UR AT 8 1 TS T8 T/ 10% & A1H TR A6l ) 39 21,200 U
sifafyed frad €1 YfS &1 arafas faswa-gea feran 82
1. Rs. 5,30,000 / 5,30,000 ST

(19)



Z. I\S. J,UU,UUVU / D,UV,UUVU VHH

3. Rs. 5,20,000 / 5,20,000 SUY

4, Rs. 5,10,000 / 5,10,000 ST

Correct Answer :-

» Rs. 5,30,000/5,30,000 S

11) Rs. 1500 are divided among A, B and C in such a manner that A : B=5:2 and B: C =7 : 13, What
is A’s share? / 1500 UT P A, B 3R C A I UaR for faaRa frarsrarg s A: B=5: 23R B: C=
7:13 %, A B fAeH 99 $UT 319 Pifore?

1. Rs. 700 / 700 ¥UU4
2. Rs. 500/ 500 ¥4YU
3. Rs. 250/ 250 ¥4y

4. Rs. 350 /350 ¥UUY

Correct Answer :-

« Rs. 700/ 700 ¥UT

12) If 2P = 5Q = 6R, then P : Q : R is equal to: / TG 2P =5Q = 6R, A P : Q : R f+1 & SR1aR g1 Tm:
1.3:4:5

2.15:6:5

3. None of the above / g:lﬁﬁ ﬁ_g:ﬁﬁ

4.6:15:5

Correct Answer :-

e 15:6:5

13) If a tailor uses 3/4™ m of cloth to make a skirt, then how much cloth does he need for 7 skirts? /'CI'%

TP ol Wpe 91 P fore [Pt BUS &1 3/4 HY. FUST YA BT 8, d1 7 Wha 411 & forg fpa=
Hex $US & razadHdr g2

6im
4

(20)



14) If you drive at 60 kmph for 3 hours and 50 mins, then how far will you go? / afe 31 60 fHTit/Ee

B A A 3 9 3R 50 firvTe a grsfamovd &1 @ omue faat gt aa &2
1. 230 km / 230 T4,
2.210 km /210 i,
3. 250 km / 250 b,

4, 240 km / 240 Tt

Correct Answer :-

e 230 km /230 Tl

15) A carpenter needs 1,500 boards to build a house. Each board must be 3 feet long and 2 feet wide.
The boards available in the market are 17 feet long and 2 feet wide. How many boards must the

carpenter buy and cut to get the 1,500 he needs? /waﬁﬁwaﬁﬁ%ﬁﬂz 1,500 @T{?Tﬁ
STIRTHAT & | TP IS @! aiaTs 3 ftbe iR AieTs 2 fibe 81 I9TR  SUa 918 17 Wie T 3iR 2
fire 9ts &1 1,500 91T T9M & T 39 T foraq S H o1 wewd ghil?

1.42
2. 500
3. 125

4. 300

Correct Answer :-



16) A and B can do a piece of work in 8 days; B and C can do the same in 12 days; and A and C can do
the same in § days. If A, B and C work together, how many days will they take to complete the work? / A

IRBIFNPHBIsTAAFWE B3R cIM P B 12 RAA P E 3R A iR c ST BH B
8 o o wd €1 afe 3 91 v 1y 19 B3 @ ST fpa fo=1 & 1 ) wmewm?

1. 6 days / 6 &1
2. 4 days /4 fe
3. 8 days /8 fa

4.3 days /3 fa=

Correct Answer :-

« 6days/6faA

17) The square of 98 is: / 98 T A {11 &:
1. 9,603
2. 9,601
3. 9,604

4. 9,000

Correct Answer :-

18) The average age of 43 students in a class is 16. If the teacher's age is added, then the average age
increases by 3 months. What is the age of the teacher? / 43 CEikal TDh DHET & T=I Bt 3T BT 3ad
16 31 e g ot off ey 3o e &Y wimg @Y ot 3 wEH 9 wiran 2 1 Riere &t oy farait 82

1. 27 years / 27 @8
2. 30 years / 30 ay
3. 25 years / 259Y

4. 33 years / 33 CL

Correct Answer :-

e 27 years/27 a4

19) The average age of a family of five was 32. It fell to 18 when the grandmother died. How old was
she? / TP URAR & 5 AN P 3T BT 3M19d 32 AT SISt B Y & 9IS Tg 18 T 9T 8, SADI 3M1g

(22)



IM/781701 M1

1. 98
2.102
3. 88

4.72

Correct Answer :-
e 88

20) The average age of a 20-member team, three years ago was 17. Even after a player joined the team,
the average age of its team members remains the same till date. What is the age of the newly joined

player? / 20 T &1 <10 B SN¥Te Mg o9 T Ugd 17 A1 1 30 Te & TS & q1as[g 3T
TP 3D ATY BT 3T a8 81 ¢ JS Te™ $i 3y fpa=it 82

1.4
2.2
3.1

4.3

Correct Answer :-

o 2

21) The average of 8 numbers is 25. If each number is increased by 15 %, then the new average of the
numbers is: / 8 SIS BT N 25 81 TS AP 3P 15% FeT &1 ST, Y 57 @13 BT 747
Jd I g

1.30.45
2.35.67
3. 28.75

4.20.45

Correct Answer :-

22) The average of four consecutive even numbers is 54. The largest of these number is: / IR S qq

TT3M BT 3N 54 21 599 A G99 g8t J& A &

(23)



L. 4/
2.77
3. 67

4.57

Correct Answer :-
o 57

23) The average weight of 10 students is increased by half a kg when one of the students weighing 50 kg
is replaced by a new student. Find the weight of the new student. / 10 faenffat @1 ha HR smer feum
TP 9¢ ST @ 19 S9H 50 fhu. WK 9rd v faendf & e R ve = faen<f s wimar g1 e
faemff @1 YR 3@ Fiforg)

1. 60 kg / 60 Tobarm
2. 40 kg / 40 fouT
3.45kg /45 fur

4. 55 kg /55 fopun

Correct Answer :-

« 55ke /55 fobdn

24) 75 % of 300 - 60 % 0f 250 = ? / 300 BT 75 % — 250 BT 60 % = ?
1. 100

2. 80

3.75

4. 60

Correct Answer :-

25) Find the average. / 3 FReferd |
19, 16,13, 10,7, & 1
1. 11

2.13

(24)



. 14

4.9

Correct Answer :-

« 11

26) A train passes a platform in 36 sec and a man standing on the platform in 20 sec. If the speed of the
train is 63 kmph, what is the length of the platform? / 63 /e St a3 7a G TP aq, Usdp
WICHIH BT 36 . 3R IH W TS TS AHTGH $1 20 V. H IR Bd1 ¢ | WEWIH B qHTs fba-l o2

1. 260 metres / 260 ﬂlaq
2. 240 metres / 240 HIeX
3. 280 metres / 280 ﬁlaz

4. 300 metres / 300 HIe

Correct Answer :-
e 280 metres /280 I“E?

27) A train passes two cars moving in the same direction at 45 km/h and 50 km/h in 36 sec and 54 sec,
respectively. What is the length of the train? /T B fa=IT § spH=T: 45 fopeii/gieT 3R 50 foreil e &1 =mer
W T T8 & BRI DI, TH o1 36 . 3N 54 F. W UR FHell 81 31 Dt AaTs fba-il 82

1. 160 m /160 HI.
2.100 m /100 Ht.
3.150 m/ 150 Ht,

4. 120 m/ 120 HI.

Correct Answer :-
e 150m/ 150 .

28) Cost of 1 m cloth is Rs. 120. A shirt requires 1.3 m cloth. The stitching charges per shirt are Rs. 35.
What will be the total cost of 5 shirts? / TP HY. HUG Bt BT 120 $UI § 1 T I & oY 1.3 H.HUST
1T | ufd =& Ft Fars 35 T 1 5 1S BT I T g2

1. Rs. 925 /925 30
2. Rs. 955 /955 SUY

3.Rs. 975 /975 30

(25)
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Correct Answer :-

« Rs.955/955 %07

29) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7 733 T IR val & 9 iR il T va & St 99H 914 91 TP T8 82

Alija Alexander
Rua Ernesto Zanrosso, 2794,
Bairro Santa Catarina

CEP: 95030-310, Brazil

(i) Alija Alexander
Rua Ernesto Zanrosso, 2794,
Bairoo Santa Catarina

CEP: 95030-310, Brazil

(ii) Alija Alexander
Rua Ernesto Zanrosso, 2794,
Bairro Santa Catarina

CEP: 95030-310, Brazil

(iii) Alija Alexander
Rua Ernesto Zanrosso, 2794,
Bairro Santa Catarina

CEP: 95030-310, Brazil

(iv) Alija Alexander
Rua Ernesto Zanrosso, 2794,

Bairro Santa Catarina

(26)
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1. 1ii

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /T'ﬂ%?ﬂ"'lg mﬁ, 3I&RY GﬁTWTGﬁWWWﬁﬁH%I me
i. teye3341eyte

ii. teye3341eyte

iii. teye3841eyte

iv. teye3341eyte

1. 1ii

2. 1v

3.ii

4.1

Correct Answer :-

e il

Topic:- Science and Simple Arithmetic

1)
In the adjoining figure, 'Q' is the centre of the circle and if # ABC =30° _ then £AOC = A
Heow o o, geg =1 oa O'¢1 7% £ABC =350, @7 £AOC = |

2

1. 25°

(27)



L. DV

3. 100°

4.75°

Correct Answer :-

Find.ﬁ?sothat(%)'ﬁx(%)4= (%) / (%),-ﬁx-@)é:(%)zxﬁ X o A T

1.5

3) Inthe adjoining figure, if /]| m and tis the mansversal, then x = S Herw T A, o || moder
twew Tdw @ §, OF x = |

1. 15°
2.19°
3.20°

4.21°

Correct Answer :-

4) Which of the following is a liquid waste product? / fefafead e Udh dral SUFRIT IdTG
8?2

(28)



L. OlUlLy / H/«"

2. Sewage /aﬂ%ﬂﬂﬁ
3. Biogas /erq’ﬁ?r

4. Sludge / 4P

Correct Answer :-

» Sewage / ClIRRE]

5) ABCD is a rhombus with ZBAD = 64°. If AC and BD meet at O, then £BDC = ./ ABCD U®
TUagys 8, oI 2BAD = 64° 81 3fé AC TE BD fiig 0 R frerd €, 99 2BDC = |

1. 46°
2. 44°
3. 54°

4. 58°

Correct Answer :-
e 58°

6) A point where the magnetic field due to a magnet is completely neutralized by the magnetic field due

to another magnet is called a . /ﬁﬁgﬁﬂww%wmaﬂ,ww%
HRU YRS & P FRT 0! U A G g1 el 8, HEATT |

1. null point / Q]?Jﬁé‘m Ryfa
2. negative point / Wﬁ’g"
3. positive point / YIIHD 1%?:;
4. mid point / Irwa?ﬁi%’g

Correct Answer :-

« null point / [ [CRENIR]

7) Menopause occurs at the age of: I?Trﬁﬁq%fsﬂ Gﬂgﬁ%ﬁ%
1.11-13years/ 11 - 13 9§
2. 45 — 55 years / 45 — 55 @Y

3.15-50 years / 15 - 50 a9

(29)
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Correct Answer :-

e 45— 55 years / 45 — 55 9§

8) Sajan's platelet count reduced drastically due to infectious fever. It will prevent his blood from: / dTSI<

B faT] T, Tepfird Sar & BRUT Aol A U € § 1 U8 SHP I B AP :
1. Bleeding/Wa%ef@f

2. 0, transportation / SHlerdio & uRaga 9

3. Clotting / YdehT SH ¥

4. Flowing / UaTRd 81 &

Correct Answer :-

« Clotting / YT FHA ¥

9) Which of the following helps in the repair of tissue and fills up the space inside the organ?/ ﬁﬂ? ﬁ '\ﬁ
DI S BI TRETT B Hag HAl 8 3R 371 & 3SR $it S8 B URdT 82

1. Adipose tissue / AHTHI GHddh
2. Areolar tissue / TR3ATR Sdd
3. Carrilage/B'QT@I

4, Tendon / ST

Correct Answer :-
« Areolar tissue /QF\’WW

10) Which of the following groups contain only biodegradable items? / fadAafea L E A Had
S g e gl 1

1. Cake, polythene and grass /W, Tiferfis qur g |

2. Grass, plastic and leather / Y, WHWWI

3. Fruit peels, cake and cabbage /W%W, &P T gl

4. Grass, wood and plastic / 99, Ao 9UT WIREH |

Correct Answer :-

Y Y

¢ Fruit peels, cake and cabbage / el & I?9c10h, HD U TArTHT |




11) What is the main symptom of Rabies? IW\_;IW HBT &1 T @?IT %?
1. Lack of appetite and stomach upset / {{ & SHId qYT UT WG 8T

2. Severe back pain and headache /ﬁﬂﬂ?tﬂaa‘cfazm‘%mé

3. High fever and shivering /WW@W

4. Hydrophobia or fear from water / E’IE@W QIO Y ST

Correct Answer :-

« Hydrophobia or fear from water /mmqﬁ@ SR

12) If you stand in front of a plane mirror, your image will be found to be: / af¢ &WWW?{&W
& I TS B &, o U B Ut g1 At g

1. Small and inverted / BTET 3R 3feN=fe
2. Large and erect / fa2a 3R Sed=iie
3. Same size but laterally inverted / JHI- G{W%tﬂ%ﬁf: et

4. Same size but inverted / A 3THR fdig Sre=Aef

Correct Answer :-

« Same size but laterally inverted / §HIH &Wmtﬂ%&f: 3feffieff

13) Process of loss of water in form of water vapour by plants is called: / el gRT Ul ST 910 &%
4 H qTex (Te $1 ufthan #1 $g1 Srdr 2:

1. Photosynthesis / TeTRI GAHUT
2. Transportation / URdg

3. Respiration / R4
4. Transpiration / Ao

Correct Answer :-

« Transpiration / AT ST

14) Turmeric stain in white shirt turn red when washed with soap because: /H’ﬁﬁﬂé’ﬁﬁﬁ?ﬁﬂ%
SR 1 59 A1G A A1 o141 § <) 98 |1 ) Sirat 8 | Riifp:

1. Soap is neutral in nature /H@?Qﬁﬁ SN BT g

(31)
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3. Soap is basic in nature / 1§ Uhid # &R g g
4, Turmeric is acidic in nature / geal E@iﬁ T il Eﬂ?ﬂ %’l

Correct Answer :-

« Soap is basic in nature / 9§ Uepfd | &R BT g

15) PQRS is a rectangle. Diagonals PR and SQ meet at'O'. IfOP = 5X4+ 2and OS = 7X- 6,
then X= . / PQRS T% 31Id 8| &9 PR TH SQ fdg '0" W firad §149f¢ OP = 54+ 2 T4 0S
=7X-6%,99 X= |

1.6
2.5
3.8

4.4

Correct Answer :-

« 4

16) The volume of right circular cylinder is 4620 cm3. If its height is 30 cm, then the

diameter of the base is: / TP &d g9 S HT 3T 4620 JH3 B1 afe 3T S1 30 A &,
a9 3P SMYR HT I 8t

1.7 cm/ 7 99t
2.12 cm/ 12 TH
3. 6 cm /6 IH

4,14 cm /14 9=

Correct Answer :-
e 14cm/ 14 Q¥

17) There is a big problem of waste disposal in a nuclear power plan because itis: / BlIE U]

i = & srufre o1 fFarv T ot www 3, T 9s:
1. Foul smelling / gﬁ%rgaas‘m%
2. Highly inflammable / 3 SIa-=Id SidT §

3. Highly radioactive / 3=d ¥4 I mﬁm %
(32)
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Correct Answer :-

« Highly radioactive / 3= =9 ¥ Iaef grar g

18) 1f x2 + )2 = 45 and xy = 2, then the value of (x+ y) is: / Tidx2 + )2 = 45T xy = 2§, @
(x+ y) PITHAA&:

1,13
2. X5
3,16
4,17

Correct Answer :-

7

19) The pair of warm blooded animals are: / T Y& aral Uﬂaﬁ a?gm%':
1. Amphibians and reptiles / 3HI<X &ﬁTW

2. Aves and mammals / TdToT 3R WHURY

3. Pisces and amphibians/r@_cﬁ aﬁm’mﬁw

N N

4. Pisces and coelentrates / Hi9(‘1nl GﬁT R—IQ‘I'CQCI

Correct Answer :-

¢ Aves and mammals /Q_anﬂ 3R TR

20) Sonu was doing an experiment in his chemistry lab. He opened the air hole of Bunsen
Burner and adjusted it to get: / I 3T I FITH TR & TP TART HX 38T 4TI 3T
T TR & 91 faaR &) @ar a1 59 &1 ured #3a & fore gumaifoa foeam:

1. Yellow flame / dtelt &t

2. Blue flame /=iteft &t

3. Luminous flame / TAGHER Tl
4. Green flame / & &t

Correct Answer :-

(33)
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21) After 9 years, I shall be 3 times as old as I was 7 years ago. My age after 9 years will be:

/ 7 a6l qd, # 7=t 39 &7 YT, 9 Il 91 ST 3 AT 81 FH | <l A1 gui a1g A 39 ghit:
1. 20 years / 20 9
2. 28 years /28 9%
3.24 years /24 @Y

4. 32 years /32 CL

Correct Answer :-
e 24 years /24 G

22) what is the quotient obtained when -6x7 + 8x* - 2x2 is divided by -2x2? / -6x” + 8x% -
2x2 BT -2x2 F U F1 R U U w7 82

1L.-3° +4¢2 +1
2.3 - 4x 1
3.3x° - 44
4.3x -4x + 1

Correct Answer :-

e 3X-4x¥ +1

23) Marked price of a book is Rs. 225. If it is sold at a discount of 12%, then the selling price is: / TP J&Ih
BT 3ifthd Yool 225 FUT B 1 Af T 12% & Fe R 991 91141 8, df faspa g 8:

1. 182
2.205
3. 198
4. 196

Correct Answer :-

« 198

(34)



LI UYY JLUCIL LT YYILL @ DUlll ULl W, L4UUVU AU W 1w, 4Uvs at 1v /o Pcl anuuL LUlllPUullu AIALTLTDL. / I™M7N 71

g § Ufdad 10% Tehgis oaTsT B G2 A 2000 TUY BT AT 2662 TUA I ST

1 1
1= vears / 1-a9
127 2

2
2.

B |

1 P
years [ 2= @9

3.3 years/3 G

4.2 years/ZEFSf

Correct Answer :-

e 3years/3 CL

25) Which of the following is not a perfect square? /Fafafead S P U '\‘T‘Iﬁﬂ"fﬁ%”
1. 576

2.778

3.529

4. 841

Correct Answer :-

« 778

26) The smallest number by which 30375 must be divided so that the quotient has a cube root is: / 9% T

BT T 1d By, ST 30375 B fyunfora fovan s anfee a1fe unmere v 9@ e 8-
1.5
2.25
3.3

4.9

Correct Answer :-

* 9

27) The area of a parallelogram is 42 cm? and if its base is 7 cm, then its altitude is: / TP IR ?rgpj\_tl Cad)

aTwe 42 TH12 g 3R Tfe STHT YR 7 TH §, 99 TP HITS o:
1.6 cm/ 6 TH

(35)
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3.4 cm /4 IH

4,3 cm/3 99

Correct Answer :-

« 6cm/69Hl

28) The mean of first 12 whole numbers is: / TJH 12 q;Ufﬂ'@Taﬁ T B:
1.6.5

2.7.5

3.45

4.55

Correct Answer :-

29) ‘Flora’ refers to the: / ‘g’ 3@ Wf\‘l-fﬁ DIl %:
1. Wild animals of that area / 3 & & SITCIl SIFAR

2. Plant life of that area / 39 &3 &1 UIGU Siia

3. Animal life of that area / 31 mm%ﬁﬁﬁ

4. Birds of that area /39 & o U&fl

Correct Answer :-

« Plant life of that area / 39 &7 &1 UICYU Sitdq

30) Name the planet which appears reddish in colour. / 3 g ®T 7TH Jd13¢, Sl &1 31 H fe@an g1
1. Mars / H7Td

2. Jupiter / qacri%[
3. Earth / q%ﬁ

4. Neptune / ﬁ'@ﬁ

Correct Answer :-

e Mars / T
(36)






